SOLUTIONS: PROBLEM SET 27 FROM SECTION 12.1

4. My apologies for this problem; I didn’t notice when I assigned it
that it involved alternate bases.
(a) 49+14+3 66

B = 518 = (2321). The period length is ord;10 = 6,

and the preperiod is .232.
(f) There is no preperiod. The period length is ordg; 10 = 60.
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(a) % CT 1—(1)0% = 1—30(58%). The period length is 1 and the prepe-
riod is .58.

(b) 5 = 15(32). The period length is 1 and the preperiod is .3.

(¢) % = 1453 The period length is 1 and the preperiod is .01.

(d) The period length is ords310 = 22; there is no preperiod.
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